=
<

a(0 @) (raqd)

1072

1.z

1.1

Ratio
o

0.9

[ W L L L

o8l

-2 -1 0

1

2

3

TP n (PCA to beamline)

a(d cot(d))

1072

-
S
w

|
W[

0 1 2 3
TP n (PCA to beamline)

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch1l

SICEWATL

1072

12

Ratio

|
W

-2 -1 0

1

2

3

TP n (PCA to beamline)

o p/p.)

,_.
<
L

1072

1.2

Ratio

[y

A
o Y '.".L.

0.g!

W[

-2 -1 0

1

2

3

TP n (PCA- to beamline)

oo a,) (cm)

Ratio

z

107}

1072

1

1.2

|
W

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


